HEEX B FAB— PR
RIER: FRM30F8A3H

&2 AEBH A=
Tm 50cm Ocm
1 ErEIGHhR 0.104 0.108 0.102
2 RE R AE I%Erh
3 AEEERRAKTR I%Eth
4 HKEFRRE L 0.086 0.092 0.106
5 BERIL-F09 O 0.088 0.104 0.090
6 A 0.114 0.112 0.122
7 BRERIL-F09©Q 0.106 0.096 0.084
8 BERIL-F9® 0.088 0.084 0.066
9 1B B fa 2B 0.084 0.068 0.086
10 |REZBMRKTR 0.094 0.102 0.112
11 BREEMEL 0.094 0.098 0.106
12 |[MHEBERAE 0.104 0.102 0.104
13 |BEEESHIL-FU 0.090 0.094 0.092
14 |BRZELFBERM 0.084 0.072 0.082
=XE 0.114 0.112 0.122
=/ME 0.084 0.068 0.066
FHiE 0.095 0.094 0.096




